AP R RENFET 5 (RI5) B 5 B #

SF6FE3IF 128 (kEER)
Fx ENSEfashE: 1967 b

(B ILHEREST)
BE ox e HIFE R (ko) 1% #Y3E RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 9,010
130100|7 W A Tz 800 800| 10 1,620
13010072V A ES 1,155 1,155 10 1,566 1,458
130100|7 W A RI& 2,005 2,005 10 1,620
130340 ICA LA [y 8,130
130340 ICA LA hy= 6,210 6,210 10 2,808 1,728
130340 ICA LA BERE 900 900 10 972
130400| 1% 5 HE 2,309
13040021 5 Fix 1,880 1,880 10 3,240 1,566
130400| 1% 5 = 24 20 2 2,160
130500(7z 7> & iy 90
130500|7z\F > & BERE 78 0 78 2 3,024 1,296
130600|1LA Z A iy 1,033
130600{1 A T A Ee 905 0 895 5 4,968 1,080
131100|H 3% [y 12,895
131100{B % R 10,795 10,345 15 1,944 540
131100 B3 K& 600 525 15 3,024 2,592
131700(%F v~ HE 37,191
131700|F v+ R EH 18,200 12,570 10 1,296 648
131700(%F v~ & 15,891 15,891 10 1,350 680
131700|F v+ R ML 3,100 3,100 10 1,404 864
131800(I1F 53 A E HE 1,533
131800(IF S NWAE & 396 252 144 0.2 178 151 70
131800(I1F 53 A E = 160 0 160 4 2,160 1,296




131800(I1F 3 WA E =1 792 0 792| 0.18 140 130
131910(F R & e 1,350

131910(Fh & PN 19 0 18 0.045 63 62
131910(F R & FE 94 0 91| 35 1,836
131910(Fh & [ 260 0 260 1 486 270
131910|F R & hy= 400 0 400 5 3,780 2,808
131910(Fh & ) 243 0 243| 10 3,024 2,592
131910(F R & TiE 335 0 315 10 3,024

131950(H & et 2,962

131950|H A & SER 1,585 0 1,323 1,620 432
131950|B A& BES 294 0 294 918

133400(L % % e 18,491

133400(L % 2 I, 5,721 0 5373| 10 2,052 972
133400(L % % & 6,510 0 4,570 10 2,484 1,620
133400(L % 2 ES 2,600 0 2,600| 10 2,484 1,080
133400(L % % F=1iA 300 0 300 4 1,566 972
133400(L % 2 Rig 2,910 0 2,180| 10 1,458 1,080
134100|#A/1 e 9,855

134100 |#8/1 ES 2,380 0 2,280 5 2,700 2,052
134100 (&A1 A 950 0 850 5 2,808 1,944
134100 |88/ =l 4,895 0 4,140 5 3,240 2,268
134100|#A/1 BRS 1,430 0 1,430 5 2,376 1,620
134200|m M et 1,000

134200|FE M —a—-Y—-5v Kk 1,000 0 1,000 10 1,350

134300 (%6 7 et 5,262

134300|50F hy= 646 646 2 1,188 702
134300 (%6 F =% 4,284 3,687 5 2,592 1,080
134400| k= b+ e 3,656

134400| k< k FE 1,038 1,038 1,944 1,080
134400| k= b+ REZR 2,553 2,553 1,944 1,080




134500 "=~ ~ ¥ 3,716

134500 &' —~ >~ = A 909 909| 0.15 113 103
134500 "=~ ~ =y e 2,332 2,332 0.13 119 108
134500 &' —~ >~ BERS 300 300 4 2,916

135100 WA F A ¥ 110

135100| W A LT A = 50 40 2 4,860 3,240
135200|%= T3 86

135200|%= ANER L 30 30 2 2,160 1,080
135300|— X ¥ 256

135300 &"— X FOFRL 56 56 2 2,268 756
1361001 A L & ¥ 21,115

136100(AA L & I 13,600 13,350 5 1,944 540
1361001 A L & & 2,225 1,975 5 1,944 540
136100(AA L & R 5,290 5,290 5 1,728 864
136200|%inE ¥ 6,310

136200|E 5% time 1,100 1,100 10 1,318 1,058
136200|%inE BRS 5,210 5,210 10 2,776 1,912
136210( X —7 1 ~ ¥ 10,240

136210| X —27 4 >~ Jtime 10,240 10,240 10 1,944 451
136300|2%F ToE 1,450

136300|8F EiE 1,450 1,360 10 4,968 1,620
136600|7z & ¥ 35,620

136600|7-xa & Jtime 33,050 33,050 20 3,132 2,398
136600|7z & 5B 960 960 10 2,754 1,620
136600|7-xa & R 1,530 1,530 10 1,696
138100(& L W /o lF ¥ 1,080

138100|& L Wiz lF fig Ly 178 178 0.1 103 70
138100({& L W Ao lF BE 814 769 0.2 259 97
138500| L& LE ¥ 1,936

138500(L® LE g 1,890 1,823 0.1 38 16




AP R RENFET 5 (RI5) B 5 B #

SF6FE3IF 128 (KEEH)
BE ENFEHA%K 144 b

(B ILHEREST)
3 s i HIFE R (ko) 1 #Y3E Xt ERE |
A—k AH HY5E | HEREE] | Hfike) | BEF) | HEME) | REFE) | SEE | HEE) | RiEE)
240700 @EM AN A |HEk 1,348
240700 @EM AN A | EE 1,348 0 1,348 10 4,212 1,728
241260 HE A1 A et 1,460
241260 HE HZ M A TR 1,260 0 940[ 10 1,620 1,296
241320|/\ A et 1,497
241320|/\#f I 1,497 0 1,497 10 2,376 2,160
241450 R et 2,824
24145055 R I 2,824 0 2,824 10 3,780 2,484
241481|FaR v HH A | 1,560
241481|FaR v HhA | B 945 0 945 5 2,484 1,080
246000(L\ B & et 5,494
246000\ 6 & T, 403 0 328 0.25 443
246000\ B & FE 463 0 463| 0.25 540 270
246000|L\ 6 & &) 348 0 270 0.3 540 432
2460001 B & =1 901 0 848| 0.27 594 270
246000|L\ 6 & % 1,454 0 1,420 0.25 562 270
2460001 B & REAR 1,576 0 1,339 0.25 464 270
246000|L\ 6 & = 351 0 306 0.23 410 302
2471007 — 2 A By |## 168
247100| 7 — LR A0y | EE 169 0 169 9 25,920 10,800




